Efficiency vs P,

+0.05
> : : :
00,045 --c-rrreieereeneans R RS RRECEREEEEE
2 : : :
50.04—----------? """""" """""" """"""
50.035—----------§ ------------ P AREREEEEEERD
o : : :

0.03-----fj-ri-mrrees P HERREEEEEERE

0.025F -+ i ------------ e o
0.02F -+ R SRS e

0.0L5F =7 weriserneeeees SRR e
0.0+ gememioeeneeens R R
0.005

Ratio
IIIIIIIII‘TIIIlllI

107t 1 10 %sz (Ge\}P3

||n{vcuu| 1660evt

—ehoC

11111

R Th
nggé %%igﬁ 1RO TLIERS 1000evt

QOO+

LR SRR RN R R e
K] E : : : : :
Q0.07-- Prrsssrsdacacaces A Peneeee
% = : : : : :
O S R St

0 s
0.04F b oo Beeeenendenens . -----
o.03:—---* : : : ;

008 bl
0.0

TN T I (R
O j i ﬁ: J I

i j d j N
T EFL 1] i i i
§ i y y i
MR AL EEFA s

&
3
x
4

Ratio

0.9

0.85

[oc]

w

|
N

|
=
oE
=
N
w




	Contents
	Page 1


